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No Xi Yi
Xa Ya Xb Yb Xb-Xa Yb-Ya
1lz1 98132.033] -12812.170] |a1 98132.046| -12812.184 0.013 -0.014
2[z2 98074.220] -12792.521[ [g2 98074.220] -12792.518 0.000 0.003
3[z3 98079.396] -12798.465| a3 98079.379] -12798.469 -0.017 -0.004
4|74 98084.969| -12798.969| g4 98084.964| -12798.955 -0.005 0.014
5(z5 08093.863] -12798.901] [g5 98093.857] -12798.889 -0.006 0.012
6/2z6 98095.638] -12798.189] [a6 98095.627| -12798.188 -0.011 0.001
7[z7 98115.828] -12798.162| a7 98115.812| -12798.155 -0.016 0.007
8[z8 98147.233]  -12796.223[ [g8 98147.234] -12796.233 0.001 -0.010
9[z9 98137.638] -12833.485| [g9 98137.608] -12833.489 -0.030 -0.004
10[z10 08131.510] -12836.571] [g10 98131.511] -12836.576 0.001 -0.005
11711 08131.144] -12839.798] [g11 98131.127| -12839.794 -0.017 0.004
12[z12 98131.161] -12839.948 [g12 98131.142] -12839.944 -0.019 0.004
13[713 08131.289] -12841.053] [913 98131.290 -12841.059 0.001 -0.006
14]z14 08131.768] -12845202] [g14 98131.762| -12845.201 -0.006 0.001
[ [ 14 -0.0079 0.0002
0.0111 0.0079
0.0097
STDEV x, xn

ox V(S(Xi Xi 2/ -1)
oy V(S(Yi Yi o z/(-1)

o VvV ox¥/2 + oy/2

v/ 0.01112/2 0.00792/2) 0.0097

STDEV Xi

0.0097

yi

0.0111 i

Excel

STDEV

0.0079
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0.0097  0.0091
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No \ Xi Yi
N Ya Xb Yb Xb-Xa Yb-Ya
1|Hz1 98132.026] -12812.172| |q1 98132.046| -12812.184 0.020 -0.012
2|Hz2 98074.215] -12792.515 |g2 98074.220| -12792518 0.005 -0.003
3|Hz3 98079.391| -12798.460] |93 98079.379| -12798.469 -0.012 -0.009
4[Hz4 08084.964] -12798.964| |g4 98084.964] -12798.955 0.000 0.009
5|Hz5 98093.858] -12798.898 |95 98093.857| -12798.889 -0.001 0.009
6|Hz6 98095.633| -12798.186| |46 98095.627| -12798.188 -0.006 -0.002
7|Hz7 98115.823] -12798.162 |g7 98115.812| -12798.155 -0.011 0.007
8|Hz8 08147.228] -12796.227] |8 08147.234| -12796.233 0.006 -0.006
9|Hz9 98137.628] -12833.488| |q9 98137.608| -12833.489 -0.020 -0.001
10[Hz10 98131.499] -12836.573] |g10 98131.511| -12836.576 0.012 -0.003
11|Hz11 98131.133] -12839.800] g1l 98131.127| -12839.794 -0.006 0.006
12|Hz12 98131.150] -12839.950] |g12 98131.142| -12839.944 -0.008 0.006
13|Hz13 98131.278] -12841.055] |g13 98131.290| -12841.059 0.012 -0.004
14|Hz14 98131.756] -12845.204] |g14 98131.762| -12845.201 0.006 0.003
[T 14 ? 0.0000 0.0000
0.0110 0.0068
0.0091
‘ 0.0097 0.0091
0.0097  0.0091
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0.0097

1
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/ 357
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0.05 0.0012 2.05] 08777
0.1 0.0050 2.1 0.8897
0.15 0.0112 2.15) 0.9009
0.2 0.0198 2.2 0.9111
0.25 0.0308 225 0.9204
03 0.0440 23] 09290
0.35 0.0594 2.35] 09368
0.4 0.0769 24 0.9439
0.45 0.0963 245 0.9503
05 0.1175 25| 09561
0.55 0.1404 255]  0.9613
0.6 0.1647 26| 09660
0.65 0.1904 265 09701
0.7 0.2173 27| 09739
0.75 0.2452 2.75] 09772
08 0.2739 28] 09802
0.85 0.3032 2.85]  0.9828
09 0.3330 29| 09851
0.95 0.3632 295]  0.9871
1 0.3935 3| 09889
1.05 0.4238| 305 0.9905
1.1 0.4539
1.15 0.4838
12 05132
1.25 0.5422
13 0.5704
135 0.5980
14] 06247
1.45 0.6505
15 0.6753
155 0.6992
16 0.7220
1.65 0.7437
17 0.7643
175 0.7837
1.8 0.8021
1.85 0.8194
19 0.8355
| 195 08506
2 0.8647
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